Closures

Open closurejs for a thorough explaination of the topic.

HOW CLOSURES WORK

function retirement(retirementAge) {
var a = ' years left until retirement.';
return function(year0fBirth) {
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Activate Windows
Go to Settings to activate Windows

Check the developer console for the log (Only in .html version)

Images are taken from: JS Course by Jonas Schmedtmann



https://github.com/Ch-sriram/JavaScript/blob/master/JS-Objects-Functions-Advanced/scripts/closure.js
https://www.udemy.com/the-complete-javascript-course/

